(1)
21 20
(A) 5,882 5,832
(B) 4 6,851 4 6,664
(B) (A) 8.0 8.0
8
21 20
(A) 8,460 8,015
®) 1 9,647 1 9,170
(A) (B) 43.1% 41.8%
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(2)

( )
21 20
(A) 9,372 9,486
(B) 4 5,663 4 5,429
A = (B 20.5% 20.9%
)
(
(3) )
21 20
(A) 1 346 1 510
(B) 4 6,851 4 6,664
A = (B 22.1% 22.5%
22.1
21 20
(A) 9,372 9,486
( \B) 629 744
(A = B 14.9 128
)
14.9
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(4)

21 20

( )(A) 4,367 3,963
(B) 4 3,640 3,439

A + (B 10.0% 9.1%
- — 21 20
2.3% 2.3%

5.3% 5.1%

217.7% 206.6%

21.8% 20.8%

74.9% 13.4%

43.8% 44.4%

41.3% 37.1%

10.0% 9.1%

10
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(5)

21 20
(A) 4,121 3,717
(B) 4,546 4,261
A) + (B 90.7% 87.2%
100
100
90.7
(6)
21 20
(A) 246 246
(B) 4,367 3,963
A) + (B 5.6% 6.2%
5.6
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(7)

3.0 7.0

30 50

15 40

40%

3 9

10 30

90 110

2 8
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